EARAROBEEIERT — 2 N— IBISH —F

20195 1A6H (B) 1H=#2H

BN -7 s 63 ¥5%3% ER) (B 3% [xml a [ewml - [= &) om
[A&4] 1 7 238,000,000 § ~ 2 3% :15,000,000 @ . 3 7 :9,500,000 @ . 4 7 :5,700,000 @ . 5 7& : 3,800,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. —_ . Rk — :35. - . . EIRE (ER)
i o | TP LT - 3 Fa 1(3_5)7 7-7 35.31100.6 | 4 ig;t (% EEN
L:A—RKApFO7 B:7y—3 =Y Ty—LA
> = . 4 3 | EHEEA 1:35.7 11-10 | 35.0[100.6 | 10 | 470 |#BEEZ (EX)
2011 |¥12NTTVT 56.0 (7€) Ge) | ) #5TLYEI5T 5747
LG4 7—IWEY B4 xIL—F EviLy RT77—L4L
Syx_FIUsSL > 4 3 | RHEE 1:35.9 8-7 35.4| 98.6 | 2 460 | KIEBEAN (BR)
37|10 IvF¥—TVIT 56.0 (1 1/2) o) |BEADSE
R:F4—TTU5>F BIEYITY J—H¥Tp—LA
SRR, 3 _ 4t 3 | HARM— 1:36.1 5-5 35.8| 96.6 | 5 464 | BERB— (EiH)
4Bl o| /¥y ¥ =T RN 54.0 (1 1/8) Ga | B *r8ybIr—n
L=5-297 B:RAT74—X)— J=HrTy—L
L _ # 3 | ILE—ER 1:36.1 10-10 35.4] 96.6 | 3 448 | REMER (EX)
5 3| N\vE=T"7 56.0 (74%) (1) | BISHET
LN—E>Tv— B:YIEIIILIvE B FHI77-L4
2 4 3 | HALBAF 1:36.3 12-10 [ 35.4| 94.5 | 11 472 | #HURA (ER)
6 g|Iv7T ‘ 56.0 (1 1/4) 4g) |AHER
WF—TTUILF BFeFoU—J ARES #08
; LA # 3 | KE 1:36.3 3-4 36.2| 947 | 7 452 | MAKERR (R3R)
7 4| I—213I27 56.0 (7€) g) | W) x=77-X
R:F4—TA4>N7 s B:YF5T74F HET7—L
5 o 43 | JIIERHH 1:36.5 8-7 36.0 92.7 | 1 406 | REMB (EH)
8/5|5 7> h)21 =X 56.0 (3/4) +6) \Azh—ER
Z:A—-FAp707 B —-XA—-NWVINT1vy>a J=HTy—LI
. — 4 3 | K 1:36.7 5-5 36.4] 9.9 | 6 438 | BRE (RR)
9l5lg| FFHFN% 54.0 11/2) ve) | ) PoF-—L—voy
R:O—-KHFO7 B:RFITI— =¥ T — L
¢ = .5 4 3 | BERRRA :36.7 1-1 36.9| 91.2 | 12 | 484 |HLBEA (}=)
10/ 8|12 AN/ ¥ =T 1> _ 56.0 ON2) 10) | 1R
R:27)—>kb—A— B:577F17> ke
S S A S 4 3 | HHEEZ 1:37.3 3-2 37.2| 85.7 | 9 480 | FIETES (R®)
111811 Ay RYLNRT— 56.0% (31/2) (+2) :i'l~")E7'r‘/
v vRayzA4 BU-Yrri— Godolphin
— e g 4 3 | EPR 1:37.5 2-2 37.5| 84.1 | 8 474 | REBK (BR)
EH 7 il N el m RO 56.0 (1 1/2) 42) /J\Miﬁni(ﬁli
RN—5—2y 7 B:ZKRCEQTTI KE%S
@ 71 L
) 48.4-35.9
NA>Z4 L |12.3-10.8-11.6-12.6-12.5-12.1-12.1-11..7
® I —F—EBIERL
1T=7r=
230—F—
Gol=5r= 12,7(4,11) (6,9)2(5,10)3,1,8
40 —F— 12(7,11)4(6,9) (2,5,10) (8,3,1)
[ N3
B O 2 680M 714K 1-2 2,930 e E 1-2 11,3508 JEHE 1-2-10 16,270M
8 B 2 230M 2-10 780M B E 1-2 11,220 B 2-1-10 112,900M
1 640/ 1-10 2,420M B H 2-1 17,720
10 220M

ABICOVWTRDTEEERROODE. TR LIV,




